13a  We're having a great timel
Mb1 npekpacHoO nposoaum Bpems!







NTak, npocMOTPEB CKa3Ky, Bbl MOHANN , YTO HAM HY>KHO
XOPOLUEHBKO BCMIOMHUTD :

A- OHa -
Thl (Bbl) - Mbl -

«to be » (ObITb) -

B aTom BpemeHun y

rnarofa




cenyac B AaHHbIN MOMEHT )

A BOT 1 Tabnuua — NOMOLLHMLA AN NOCTPOEHUS pa3HbIX NPEeASIoXKeHUN

Present Continuous =) NOW, at the moment

| am flying. | am not flying. Am | flying?
He is flying. He isn’t flying. Is he flying?
She is flying. She isn’t flying. Is she flying?
Itis flying. Itisn’t flying. Is it flying?

We are flying. We aren’t flying. |Are we flying?
You are flying. |You aren’tflying. |Are you flying?
They are flying. |They aren’t flying. |Are they flying?




YnpaxHeHne gaHo B Buae necHu. KpacHbiM wpudgtom
BblOeneHbl gopasbl, KOTOpble Haao Bbly4YnTb HAMU3yCTh! BOT

Shanslation

drive a car 800UMb MAWUHY

make a sandcastle cmpoumb 3aMOK U3 rneckKa

over there mam

paint a picture pucosame KaGpMuHy

play a game uepameo 8 uzspy

upside down gsepx Ho2amu

watch TV cMmompeme menesu3op




MODULE 7




Kak Bbl BUOAUTE, AETU FOBOPAT O TOM, YTO OHU AENatoT B
NaHHbIA MOMEHT:

A wvrpato B urpy. \ A Begy maiuunHy. \ A cTporo necyaHbIn
3aMOK

A pucyto kapTuHy . OHa BBepX Horamu. YTo aTo ? Jlnuo
KIoyHa

Q
\

Cnywaem aygmo3anucb 2-3 @Q,a. 3anomuHaem dpasbil!




7. Tenepb BaM Ha4o COCTaBUTb U NPOroBOPUTb 4 NPeanoXeHna c
NOMOLLbIO 3TUX (ppas. [loackaskm eCcTb B TEKCTE MECHU yrnpaxXHeHUA Nel.

Make up exchanges as in the example.

paint/picture

drive/car

watch/TV

7 3 i lay/game
?m makfing a sandcastle.j play/g

S W N =




Make up exchanges as in the example.

(What are you doing??

m makfing a sandcastle.

1 paint/picture
2 drive/car

3 watch/TV

4 play/game

A: What are you doing? B: I'm painting a picture.
A: What are you doing? B: I'm driving a car.

A: What are you doing? B: I’'m watching TV.

A: What are you doing? B: I'm playing a game.

i B




BoT pycckuii nepeBop AnanoroB, KOTOPbIe JOMKHbI
MONy4YnTbCS Y Bac Ha aHrMuinckom a3bike. B cnanae Ne9 ectb

BCE Hebxoaumoe.

1.4T0 Tbl Aenaelb? — A pUCYI0 KapTUHY.

2. Y10 Tbl Aenaewb? - A Beay MalUuHYy.

3. UTo Tbl genaelb? — A cCMOTpPIO TENEBUIOP.
4. Y10 Tl genaewb ? — A urpato B Urpy.
[1lporoBopuTe BCNyx nonyymseLUMeca guanoru.




1. Bbly4nTb HaM3ycTtb dopasbl ynpaxkHeHua Nel,
HanMcaHHble KpacHbIM WpudToMm. IporoBopuTb
X C NepeBOaOM.

Bbly4nTb 1 NPOroBOpPUTL HANU3YCTb 4 MUHU
avanora ynpaxHeHus Ne2.

CHATb OTBETbI HA BUAOEO W OTNPaBUTb MHE NO
Banbepy.




